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State True or False. rue

A sequence diagram can represent object interactions arranged in a time sequence. 1t will
represent only a sequence of the flow but aspects like branching, looping cannot be
represented in the sequence diagram

false



11 = new ArrayList<Number>();

sum(I1));
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Carefully read the question and answer accordingly. To execute the result of the last executed true

procedure call recursive procedures use stacks. State true or false. i
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In many situations, it would be necessary to make a decision before arriving at a conclusion or Conditional statement

; : Vgl
fo go on to the next step of processing. Which of the following suits the given description? A of the options

terative statement

Sequential statement
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Manual execution of steps in an algorithm is called as = Dry run
Flowchart

Quick run

Pseudocode
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